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Q.2 Which two numbers(not digits), from the given options, should be interchanged to
make the given equation correct?
(200 − 6) ÷ 14 × 2 − 8 = 24 ÷ 4 × 25 ÷ 5

Ans 1. 6 and 4

2. 8 and 2

3. 24 and 14

4. 6 and 8

Question ID : 26433082480

Status : Answered

Chosen Option : 1

Q.3 Three statements are given, followed by three conclusions numbered I, II and III.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:
All bags are sticks.
All trees are papers.
Some sticks are papers.
Conclusions:
I. Some sticks are trees.
II. Some papers are trees.
III. No bags are papers.

Ans 1. All conclusions follow

2. Only conclusions I and III follow

3. Only conclusion II follows

4. Only conclusion III follows

Question ID : 26433090995

Status : Answered

Chosen Option : 3

Q.4 In a certain code language, ‘SHAKE’ is written as ‘HKSAE’ , ‘RIVER’ is written as
‘RRVEI’, how will ‘OCEAN’ be written as in that language?

Ans 1. AEOCN

2. EACNO

3. CNOEA

4. CNAEO

Question ID : 26433069653

Status : Answered

Chosen Option : 4

Q.5 Which of the following numbers will replace the question mark (?) in the given series?
8, 18, 32, ?, 72, 98

Ans 1. 50

2. 40

3. 46

4. 54

Question ID : 26433076739

Status : Answered

Chosen Option : 1
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Q.6 Select the option that is related to the third word in the same way as the second word
is related to the first word.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word)
Up : Down :: Backward : ?

Ans 1. Forward

2. Straighten

3. Lift

4. Low

Question ID : 26433067975

Status : Answered

Chosen Option : 1

Q.7 ‘A + B’ means ‘A is the brother of B’
‘A – B’ means ‘A is the wife of B’
‘A × B’ means ‘A is the son of B’
‘A ÷ B’ means ‘A is the husband of B’
If P + Q – S + R × L ÷ M, then which of the following statements is correct?

Ans 1. Q is the sister of M.

2. P is S’s wife’s brother.

3. L is the father of P.

4. P is the brother of S.

Question ID : 26433069661

Status : Answered

Chosen Option : 2

Q.8 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
JDZW, NWDA, RPHE, ? , ZBPM

Ans 1. VILI

2. VTHX

3. TVSG

4. TYID

Question ID : 26433074746

Status : Answered

Chosen Option : 1

Q.9 Select the option that is related to the fourth term in the same way as the first term is
related to the second term and the fifth term is related to the sixth term.
256 : 15 :: ? : 17 :: 1225 : 34

Ans 1. 361

2. 324

3. 289

4. 225

Question ID : 26433074547

Status : Answered

Chosen Option : 2
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Q.10 Which two signs should be interchanged to make the below equation mathematically
correct?
104 ÷ 8 – 24 × 5 + 9 = 34

Ans 1. + and ÷

2. – and +

3. + and ×

4. ÷ and ×

Question ID : 264330117518

Status : Answered

Chosen Option : 3

Q.11 Select the option that is related to the third word in the same way as the second word
is related to the first word.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word)
Vocal cord : Singer :: Feet : ?

Ans 1. Scientist

2. Doctor

3. Footballer

4. Teacher

Question ID : 26433079467

Status : Answered

Chosen Option : 3

Q.12 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 inside
2 insert
3 insist
4 inert
5 investigate

Ans 1. 1,2,3,4,5

2. 4,1,2,3,5

3. 4,3,1,2,5

4. 4,2,1,3,5

Question ID : 26433069290

Status : Answered

Chosen Option : 4

Q.13 Which of the following numbers will replace the question mark (?) in the given series?
96, 90, ?, 60, 36, 6

Ans 1. 84

2. 72

3. 78

4. 70

Question ID : 26433069391

Status : Answered

Chosen Option : 3
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Q.14 In a certain code language, ‘PEOPLE’ is written as ‘NOEMEL’ and ‘TABLES’ is written
as ‘RBAISE’. How will ‘MATURE’ be written in the same code language?

Ans 1. KTARER

2. LATMRE

3. JATRER

4. AMRDRE

Question ID : 26433079484

Status : Answered

Chosen Option : 1

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 26433089459

Status : Answered

Chosen Option : 3

Q.16

Ans

1. 

2. 

3. 

4. 

Question ID : 26433069483

Status : Answered

Chosen Option : 1
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Q.17 Six students are sitting around a circular table facing the centre. Sam is sitting second
to the right of Krish. Vishal is sitting second to the right of Sam. Savio is sitting third
to the right of Sam. Michelle is the immediate neighbour of Sam and Krish. Dixon is
sitting third to the right of Krish. Who is sitting between Vishal and Krish?

Ans 1. Savio 

2. Dixon

3. Sam

4. Michelle

Question ID : 26433081777

Status : Answered

Chosen Option : 1

Q.18 Six boys M, G, V, A, R and D are standing in a straight line facing towards North. Only
three boys are standing to the left of G. M is standing at the second position from the
left end. Only D is standing between G and A. Who is standing at the second position
from the extreme right end?

Ans 1. R

2. D

3. V

4. A

Question ID : 26433079061

Status : Answered

Chosen Option : 2

Q.19 Which letter-cluster will replace the question mark (?) to complete the given series?
RQPS, NMLO, JIHK, ? , BAZC

Ans 1. GFEH

2. GEFH

3. FDEG

4. FEDG

Question ID : 26433067718

Status : Answered

Chosen Option : 4

Q.20

Ans 1. 3

2. 4 

3. 1

4. 6

Question ID : 26433089454

Status : Answered

Chosen Option : 2

Section : Part-B-General Knowledge and General awareness
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Q.1 The honour of Sangeet Natak Akademi Fellowship carries ______________.

Ans 1. Rs.1,00,000/- (Rupees One lakh) along with a Tamrapatra and Angavastram

2. Rs.5,00,000/- (Rupees five lakh)

3. Rs.3,00,000/- (Rupees three lakh) along with a Tamrapatra and Angavastram

4. Rs.1,00,000/- (Rupees One lakh)

Question ID : 264330115892

Status : Marked For Review

Chosen Option : 1

Q.2 Mawsynram in the ______ of the Khasi Hills receives the highest average rainfall in the
world.

Ans 1. Southern part

2. Northern part

3. Western part

4. Eastern part

Question ID : 26433091489

Status : Marked For Review

Chosen Option : 1

Q.3 ________________, established in 1829, is the oldest golf club in India and the first
outside Great Britain.

Ans 1. East Point Golf Club

2. The Bangalore Golf Club

3. The Royal Calcutta Golf Club

4. Cosmopolitan Club

Question ID : 26433089936

Status : Marked For Review

Chosen Option : 3

Q.4 The Legislative Council of a state assembly __________ of the total number of
members in the legislative of the state and in no case fewer than 40 members.

Ans 1. one-eighth

2. one-tenth

3. one-sixth

4. one-third

Question ID : 26433086862

Status : Answered

Chosen Option : 2

Q.5 Mahavir Jayanti is celebrated in the month of _________.

Ans 1. August-September

2. March-April

3. November-December

4. May-June

Question ID : 264330115097

Status : Not Answered

Chosen Option : --
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Q.6 __________banks are owned by their customers and follow the cooperative principle
of one person, one vote.

Ans 1. State

2. Nationalised

3. Cooperative

4. Scheduled

Question ID : 264330115305

Status : Answered

Chosen Option : 3

Q.7 Which of the following state hosted the Khelo India Youth Games 2021?

Ans 1. Haryana

2. Punjab

3. Maharashtra

4. Madhya Pradesh

Question ID : 264330115916

Status : Answered

Chosen Option : 1

Q.8 What is conversion of oil to vanaspati termed as?

Ans 1. pasteurization

2. preservation

3. homogenization

4. hydrogenation

Question ID : 264330115263

Status : Answered

Chosen Option : 4

Q.9 Solid Carbon dioxide is commonly called as ___________.

Ans 1. heavy water

2. dry ice

3. aspirin

4. table sugar

Question ID : 264330115156

Status : Answered

Chosen Option : 2

Q.10 Who among the following was appointed as the new Chief of Defence Staff in
September 2022?

Ans 1. Ajay Singh

2. Bipin Rawat

3. Manoj Pande

4. Anil Chauhan

Question ID : 264330114921

Status : Answered

Chosen Option : 4
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Q.11 Which of the following city was the capital of the Pandyas?

Ans 1. Kallupatti

2. Kariapatti

3. Madurai

4. Palamedu

Question ID : 26433085217

Status : Answered

Chosen Option : 3

Q.12 Which article of the Indian Constitution deals with the fundamental duties?

Ans 1. 51A

2. 50

3. 53A

4. 52

Question ID : 264330115623

Status : Answered

Chosen Option : 1

Q.13 Which of the following forms an asset for a bank?
I. Reserves
II. Loans

Ans 1. Only I

2. Both I and II

3. Neither I nor II

4. Only II

Question ID : 26433054801

Status : Answered

Chosen Option : 1

Q.14 Where was the Communist Party of India (CPI) founded, in 1920?

Ans 1. Andijan 

2. Bukhara 

3. Tashkent

4. Namangan 

Question ID : 264330115712

Status : Not Answered

Chosen Option : --

Q.15 Which among the following folk dances is popularly known as the 'stick dance'?

Ans 1. Kolannalu

2. Ghodemodni

3. Theyyam

4. Koli

Question ID : 264330115070

Status : Not Answered

Chosen Option : --
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Q.16 Trade agreement between two parties is called:

Ans 1. bilateral

2. multilateral

3. tripartite

4. unilateral

Question ID : 264330115385

Status : Answered

Chosen Option : 1

Q.17 Who took over as the Chief Executive Officer of National Institution for Transforming
India (NITI) Aayog in July 2022?

Ans 1. Narendra Singh Tomar

2. Parameswaran Iyer

3. Ajay Dhyani

4. Arvind Virmani

Question ID : 264330115008

Status : Marked For Review

Chosen Option : 2

Q.18 ___________ are promoted throughout the country to save energy.

Ans 1. Compact fluorescent lamps

2. Light emitting diode lamps

3. Incandescent bulb

4. Oil lamps

Question ID : 264330115552

Status : Answered

Chosen Option : 2

Q.19 The Consumer Protection Act provides for a ___________ tier Consumer Disputes
Redressal Agencies in India.

Ans 1. three

2. one

3. two

4. four

Question ID : 264330116238

Status : Not Answered

Chosen Option : --

Q.20 Agriculture and fishing activities belong to which sector?

Ans 1. Organized sector

2. Tertiary sector

3. Primary sector

4. Secondary sector

Question ID : 264330116090

Status : Answered

Chosen Option : 3

Section : Part-C-Elementary Mathematics
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Q.1 The store price of a chair is Rs.2,000. The successive discounts offered by the store is
10% and 15%. Calculate the total discount percentage for the chair.

Ans 1. 10.25%

2. 15.30%

3. 12.50%

4. 23.50%

Question ID : 26433075234

Status : Answered

Chosen Option : 4

Q.2 A, B and C can finish a work in 10, 15 and 30 days, respectively. In how many days can
A finish the work if he is assisted by B and C both every third day?

Ans

1. 

2. 

3. 

4. 

Question ID : 26433090265

Status : Answered

Chosen Option : 4

Q.3 The population of bacteria in a culture prepared in a lab is 8 x 108. Their birth and
death rates per hour are 12.75% and 10.75% respectively. Find their population in the
culture after 3 h.

Ans 1. 84,89,66,400

2. 84,89,44,600

3. 8,48,96,640

4. 8,48,96,460

Question ID : 26433075919

Status : Answered

Chosen Option : 1

Q.4 The marked price of a book is ₹600. After allowing a discount of 20% on the marked
price, shopkeeper makes profit of ₹48. Find the gain percent.

Ans 1. 

2. 

3. 

4. 

Question ID : 26433092145

Status : Answered

Chosen Option : 3
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Q.5 By selling a plot of land for ₹5,45,000 a person loses 8%. At what price should he sell it
to gain 12%?

Ans 1. ₹6,60,012.30

2. ₹5,62,391.30

3. ₹6,63,478.25

4. ₹6,66,667.25

Question ID : 26433076268

Status : Answered

Chosen Option : 3

Q.6 Mohi and Suniti working separately can do a work in 12 and 15 days, respectively.
Mohi starts the work and they work on alternate days. In how many days will the work
be completed?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433080199

Status : Answered

Chosen Option : 3

Q.7 How many hours will a car take to cover a distance of 354 kms at a speed of 59 km/h?

Ans 1. 4

2. 7

3. 6

4. 5

Question ID : 26433075077

Status : Answered

Chosen Option : 3

Q.8 If the cost price and the selling price of an article are Rs.1,850 and Rs.1,480
respectively, then what is the loss percentage?

Ans 1. 20%

2. 18%

3. 25%

4. 15%

Question ID : 26433075653

Status : Answered

Chosen Option : 1
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Q.9 A thief is spotted by a policeman from a distance of 100 m. When the policeman starts
the chase, the thief also starts running. If the speed of the thief is 8 km/h and that of
the policeman is 10 km/h, how far will the thief have run before he is overtaken?

Ans 1. 400 m

2. 300 m

3. 250 m

4. 350 m

Question ID : 26433075161

Status : Answered

Chosen Option : 1

Q.10 A solid metallic hemisphere is melted and recast in the shape of a cone with the same
base radius (r) as that of the hemisphere. If h is the height of the cone, then the ratio of
r and h is:

Ans 1. 

2. 

3. 

4. 

Question ID : 26433087411

Status : Answered

Chosen Option : 2

Q.11

Ans

1. 

2. 

3. 

4. 

Question ID : 26433079820

Status : Answered

Chosen Option : 2

Q.12 The ratio between two numbers is 3:5. If the LCM of these numbers is 240, then what
are the two numbers?

Ans 1. 48 and 80

2. 42 and 88

3. 48 and 88

4. 36 and 94

Question ID : 26433075665

Status : Answered

Chosen Option : 1
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Q.13 The numerator of a fraction is decreased by 25% and the denominator is increased by
25%. New fraction is how much percentage less than the original fraction?

Ans 1. 45%

2. 25%

3. 40%

4. 50%

Question ID : 26433091903

Status : Answered

Chosen Option : 3

Q.14

Ans 1. 90%

2. 77.5%

3.  75%

4. 87.5%

Question ID : 26433071250

Status : Answered

Chosen Option : 4

Q.15 The ratio of third proportional to X and Y and fourth proportional to X, Y and Z is 7 : 22,
then the ratio Z : Y is:

Ans 1. 22 : 7

2. 1 : 5

3. 49 : 484

4. 7 : 22

Question ID : 26433081474

Status : Answered

Chosen Option : 1

Q.16 The average weight of 18 students in a class increases by 3.5 kg when one student
weighing 45 kg is replaced by a new student. What is the weight (in kg) of the new
student?

Ans 1. 582

2. 507

3. 108

4. 723

Question ID : 26433079997

Status : Answered

Chosen Option : 3

Q.17 The sum of the present ages of X, Y and Z is 165 years. Five years ago, the ratio of
their ages was 3 : 5 : 7. What is the present average age of X and Z?

Ans 1. 75 years

2. 55 years

3. 45 years

4. 70 years

Question ID : 26433075433

Status : Answered

Chosen Option : 2
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Q.18 A sum of Rs.6,000 was deposited for 3 years at 5% per annum, interest compounded
annually. Find the interest for the third year.

Ans 1. 

2. 

3. 

4. 

Question ID : 26433082402

Status : Answered

Chosen Option : 2

Q.19 A number 2X16 is divided by the smallest number divisible by 4 and 9. The resultant
number is the square of 9. Find the value of X.

Ans 1. 3

2. 5

3. 7

4. 9

Question ID : 264330116638

Status : Answered

Chosen Option : 4

Q.20 Find the volume of a cone whose radius is 10 cm and the slant height is 26 cm. (Take π
= 3.14.)

Ans 1. 2432 cm3

2. 2564 cm3

3. 2512 cm3

4. 2498 cm3

Question ID : 26433085773

Status : Answered

Chosen Option : 3

Q.1 Select the correct spelling of the underlined word from the given options to make the
sentence meaningfully correct.

I am very confidant of my positive result in the examination.

Ans 1. confiedent 

2. confidance 

3. confidence 

4. confident 

Question ID : 26433074063

Status : Answered

Chosen Option : 4

Q.2 Select the INCORRECTLY spelt word.

Ans 1. Vaccenation

2. Treasure

3. Consonant

4. Similar

Question ID : 26433073726

Status : Answered

Chosen Option : 1

Section : Part-D-English
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Q.3 Select the correct idiom that can substitute the italicised group of words in the given
sentence.

My mother ensures every corner of our home is clean and organised before my
grandmother arrives.

Ans 1. root and branch

2. a queer fish

3. a rainy day

4. spick and span

Question ID : 26433084761

Status : Answered

Chosen Option : 4

Q.4 Select the most appropriate ANTONYM of the underlined word to fill in the blank.

Only one of his proposals was accepted in the meeting, while others were ______.

Ans 1. fulfilled

2. rejected

3. attended

4. agreed

Question ID : 26433089065

Status : Answered

Chosen Option : 2

Q.5 Select the most appropriate ANTONYM of the given word.
Gratification

Ans 1. Dissatisfaction

2. Growth

3. Blessing

4. Pleasure

Question ID : 26433092953

Status : Answered

Chosen Option : 1

Q.6 Select the most appropriate ANTONYM of the given word.

Divulgence

Ans 1. Revelation

2. Assertion

3. Repudiation 

4. Confirmation

Question ID : 26433072664

Status :
Not Attempted and
Marked For Review

Chosen Option : --
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Q.7 Select the most appropriate synonym of the underlined word in the following
sentence.

They put in their sincere efforts and were lauded for their endeavours.

Ans 1. efforts

2. passivity

3. fun

4. drop

Question ID : 26433072355

Status : Answered

Chosen Option : 1

Q.8 Select the most appropriate option to fill in the blank.
____________ is the scientific study of material remains like relics and monuments of
past human life.

Ans 1. Theology

2. Archaeology

3. Biology

4. Geology

Question ID : 26433084654

Status : Answered

Chosen Option : 2

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

The travelling gypsies wanted to display they’re skilful antics to the crowd.

Ans 1. No substitution

2. there skilful antics 

3. dare skilful antics 

4. their skilful antics 

Question ID : 26433088740

Status : Answered

Chosen Option : 4

Q.10 Select the most appropriate synonym of the given word.

Baffle

Ans 1. Enlighten

2. Clear

3. Comprehend

4. Amaze

Question ID : 26433072071

Status : Answered

Chosen Option : 4
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Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
My sister / is come for / a short holiday / from the US.

Ans 1. from the US

2. a short holiday

3. My sister

4. is come for

Question ID : 26433099634

Status : Answered

Chosen Option : 4

Q.12 Select the most appropriate meaning of the given idiom.

On the fence

Ans 1. On very intimate terms

2. Undaunted by anything 

3. Halting between two options

4. Under all conditions 

Question ID : 26433073876

Status : Answered

Chosen Option : 3

Q.13 Select the most appropriate synonym of the given word.

Introvert

Ans 1. Forward

2. Outgoing

3. Bold

4. Shy

Question ID : 26433073687

Status : Answered

Chosen Option : 4

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Shubhda has not finished to paint the window.

Ans 1. painting on

2. painting of

3. painting  

4. painting with

Question ID : 264330102391

Status : Answered

Chosen Option : 3
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Q.15 Select the correct pair of homonyms to fill in the blanks.

What she _______ is that he is a _______ person.

Ans 1. meant, mean 

2. grown, groaned 

3. mean, meant 

4. growing, grown

Question ID : 26433072109

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The necessity of urban forest is not only to control pollution but also to (1) ________ climate
change. It (2)________ tempests as well as unforeseen drought. Off late the world is
(3)_________ flash floods. The (4) _________ in Africa has put many countries in famine and
children undergo severe malnutrition as a result of famine. Conferences will not provide
solutions, only (5) _________ action can control these changes in global climate.

SubQuestion No : 16

Q.16 Select the most appropriate option to fill in blank number 1.

Ans 1. hasten

2. control

3. devise  

4. create

Question ID : 26433072749

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The necessity of urban forest is not only to control pollution but also to (1) ________ climate
change. It (2)________ tempests as well as unforeseen drought. Off late the world is
(3)_________ flash floods. The (4) _________ in Africa has put many countries in famine and
children undergo severe malnutrition as a result of famine. Conferences will not provide
solutions, only (5) _________ action can control these changes in global climate.

SubQuestion No : 17

Q.17 Select the most appropriate option to fill in blank number 2.

Ans 1. collides

2. confirms

3. contributes

4. prevents  

Question ID : 26433072750

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The necessity of urban forest is not only to control pollution but also to (1) ________ climate
change. It (2)________ tempests as well as unforeseen drought. Off late the world is
(3)_________ flash floods. The (4) _________ in Africa has put many countries in famine and
children undergo severe malnutrition as a result of famine. Conferences will not provide
solutions, only (5) _________ action can control these changes in global climate.

SubQuestion No : 18

Q.18 Select the most appropriate option to fill in blank number 3.

Ans 1. chasing  

2. holding

3. seeing

4. experiencing 

Question ID : 26433072751

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The necessity of urban forest is not only to control pollution but also to (1) ________ climate
change. It (2)________ tempests as well as unforeseen drought. Off late the world is
(3)_________ flash floods. The (4) _________ in Africa has put many countries in famine and
children undergo severe malnutrition as a result of famine. Conferences will not provide
solutions, only (5) _________ action can control these changes in global climate.

SubQuestion No : 19

Q.19 Select the most appropriate option to fill in blank number 4.

Ans 1. heat 

2. temperature 

3. fire 

4. drought

Question ID : 26433072752

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The necessity of urban forest is not only to control pollution but also to (1) ________ climate
change. It (2)________ tempests as well as unforeseen drought. Off late the world is
(3)_________ flash floods. The (4) _________ in Africa has put many countries in famine and
children undergo severe malnutrition as a result of famine. Conferences will not provide
solutions, only (5) _________ action can control these changes in global climate.

SubQuestion No : 20

Q.20 Select the most appropriate option to fill in blank number 5.

Ans 1. random 

2. rare 

3. one-time

4. consistent

Question ID : 26433072753

Status : Answered

Chosen Option : 4

Section : Part-D-Hindi
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Q.1 अमंगल सूचक भय ‘शक’ कहलाता है। इसके एकाथŎ शɨ से िनɻ वाƐ पूणŊ कीिजए।
माँ को ________ है िक शायद बेटा घर वापस नआए।

Ans 1. आशंका

2. भȖŊना

3. संदेशा

4. भावना

Question ID : 26433063083

Status : Not Answered

Chosen Option : --

Q.2 िनɻ वाƐ मŐ रेखांिकत अंश के ̾थान पर सबसे उपयुƅ िवकʙकौन-सा होगा?
मकान िगर जाने का संदेह है।

Ans 1. उʃीद

2. संदेश

3. इǅा

4. डर

Question ID : 26433072583

Status : Not Answered

Chosen Option : --

Q.3 नीचे िदए वाƐांश के िलए उिचत शɨ िदए गए िवकʙों मŐ से चुिनए-
िजसका ǒान इंिūयो ं Ȫारा न हो

Ans 1. अिचंȑ

2. अगोचर

3. अŤशोची

4. अǒात

Question ID : 26433062386

Status : Not Answered

Chosen Option : --

Q.4 ‘रमेश के घर के पास एक _______ है, िजसमŐ से वह पानी भरता है।’ इस वाƐ मŐ įरƅ ̾थान की पूितŊ
शुȠ शɨ Ȫारा कीिजए।

Ans 1. कुआँ

2. कंुआ

3. कुवा

4. कुआ

Question ID : 26433080905

Status : Not Answered

Chosen Option : --

Q.5 ‘सागर की तरह बड़ा होने का कोई महȇ नही ंअगर िकसी की ɗास न बुझा सके।’ वाƐ मŐ Ůयुƅ
'सागर' शɨका पयाŊयवाची शɨ नही ं है -

Ans 1. जलिध

2. वाįरिध

3. उदिध

4. जगिध

Question ID : 26433069741

Status : Not Answered

Chosen Option : --

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.6 िनɻिलİखत मŐ से Ɛा 'शादी' का समानाथŎ शɨ नही ं है?

Ans 1. पįरणय

2. िववाह

3. पािणŤहण

4. Ťहण

Question ID : 26433085080

Status : Not Answered

Chosen Option : --

Q.7 कमŊ करो, फल की चेʼा मत करो।
इस वाƐ मŐ ‘चेʼा’ के बदले कौन – सा पद उिचत होगा ?

Ans 1. Ůयास

2. हािसल

3. आशा

4. Ůाɑ

Question ID : 26433062696

Status : Not Answered

Chosen Option : --

Q.8 '______ का जोर लगाना' इस मुहावरे को पूरा करŐ ।
Ans 1. एड़ी चोटी

2. जोर

3. आमने सामने

4. पहाड़ चोटी

Question ID : 26433066819

Status : Not Answered

Chosen Option : --

Q.9 पंुडरीक और चंपा के पु˃ बŠत संुदर होते हœ।
उपरोƅ वाƐ मŐ Ůयुƅ 'पंुडरीक' शɨका पयाŊयवाची Ɛा है?

Ans 1. बेला

2. जुही

3. कमल

4. गुलाब

Question ID : 26433080853

Status : Not Answered

Chosen Option : --

Q.10 नेहा की आँखो ं से आँसू टपक पड़ा।
उपरोƅ वाƐ के िकस भाग मŐ अशुİȠ है?

Ans 1. नेहा की

2. आँसू

3. टपक पड़ा।

4. आँखों से

Question ID : 26433079761

Status : Not Answered

Chosen Option : --
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Q.11 िनɻिलİखत िवकʙों मŐ से ‘खेत की मूली’ मुहावरे का अथŊ Ɛा है?

Ans 1. गणमाɊ ʩİƅ

2. नगǻʩİƅ

3. शİƅशाली ʩİƅ

4. महामानवतावादी होना

Question ID : 26433062551

Status : Not Answered

Chosen Option : --

Q.12 िनɻ वाƐांश के एक शɨƐा होगा?
िवˁु का उपासक

Ans 1. बांधव

2. सौʿव

3. शैव

4. वैˁव

Question ID : 26433070091

Status : Not Answered

Chosen Option : --

Q.13 ‘ˢागत __________ है।’
उपयुŊƅ वाƐ मŐ įरƅ ̾थान के िलए उपयुƅ िवकʙ िनɻ मŐ से Ɛा होगा?

Ans 1. से अिभŮाय जाने के िलए िकया जाने वाला अिभवादन

2. से अिभŮाय आगमन के िलए िकया जाने वाला अिभवादन

3. से अिभŮाय मनाने के िलए िकया जाने वाला अिभवादन

4. से अिभŮाय ŝठकर जाने के िलए िकया जाने वाला अिभवादन

Question ID : 26433067048

Status : Not Answered

Chosen Option : --

Q.14 िनɻिलİखत मŐ से िकस वाƐ मŐ ŮेरणाथŊक िŢया है?

Ans 1. सीता राधा से पũ पढ़वाती है।

2. धमŒū पढ़कर सो गया।

3. सोहन ने खाना बना िलया।

4. मुझे पढ़ने दो।

Question ID : 26433085043

Status : Not Answered

Chosen Option : --

Q.15 िनɻिलİखत िवकʙों मŐ से कौन सा एक वाƐ िŢया-िवशेषण से सɾɀ रखता है?

Ans 1. मिहमा सो रही है।

2. शेर जंगल मŐ रहता है।

3. रमण रो रहा है।

4. रमेश अǅा खेल रहा है।

Question ID : 26433062950

Status : Not Answered

Chosen Option : --
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Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
याũा जीवन की 1. ________ है और Ŝकना एक पड़ाव। पįरवारजनों अथवा िमũों के साथ याũा करने का 2.
________ ही िनराला है। परीƗा समाɑ होने के 3. _______ हम चार िमũों ने िकसी पवŊतीय Ůदेश की याũा
का िनणŊय िलया। पवŊतीय Ůदेश की याũा के िलए गमŊ कपड़ों की 4. ________ थी। पįरजनों ने 5. _______ दी
और समुिचत धन भी िदया।

SubQuestion No : 16

Q.16 įरƅ ̾थान 1 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन कीिजए।
Ans 1. नगरी

2. पʮाताप

3. गित

4. मागŊ

Question ID : 264330111023

Status : Not Answered

Chosen Option : --

Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
याũा जीवन की 1. ________ है और Ŝकना एक पड़ाव। पįरवारजनों अथवा िमũों के साथ याũा करने का 2.
________ ही िनराला है। परीƗा समाɑ होने के 3. _______ हम चार िमũों ने िकसी पवŊतीय Ůदेश की याũा
का िनणŊय िलया। पवŊतीय Ůदेश की याũा के िलए गमŊ कपड़ों की 4. ________ थी। पįरजनों ने 5. _______ दी
और समुिचत धन भी िदया।

SubQuestion No : 17

Q.17 įरƅ ̾थान 2 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन कीिजए।
Ans 1. साथ

2. हाल

3. आनंद

4. ˢभाव

Question ID : 264330111024

Status : Not Answered

Chosen Option : --

Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
याũा जीवन की 1. ________ है और Ŝकना एक पड़ाव। पįरवारजनों अथवा िमũों के साथ याũा करने का 2.
________ ही िनराला है। परीƗा समाɑ होने के 3. _______ हम चार िमũों ने िकसी पवŊतीय Ůदेश की याũा
का िनणŊय िलया। पवŊतीय Ůदेश की याũा के िलए गमŊ कपड़ों की 4. ________ थी। पįरजनों ने 5. _______ दी
और समुिचत धन भी िदया।

SubQuestion No : 18

Q.18 įरƅ ̾थान 3 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन कीिजए।
Ans 1. िकȶु

2. ̾थान

3. पʮात

4. बीच

Question ID : 264330111025

Status : Not Answered

Chosen Option : --
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Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
याũा जीवन की 1. ________ है और Ŝकना एक पड़ाव। पįरवारजनों अथवा िमũों के साथ याũा करने का 2.
________ ही िनराला है। परीƗा समाɑ होने के 3. _______ हम चार िमũों ने िकसी पवŊतीय Ůदेश की याũा
का िनणŊय िलया। पवŊतीय Ůदेश की याũा के िलए गमŊ कपड़ों की 4. ________ थी। पįरजनों ने 5. _______ दी
और समुिचत धन भी िदया।

SubQuestion No : 19

Q.19 įरƅ ̾थान 4 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन कीिजए।
Ans 1. देख-रेख

2. आवʴकता

3. िमलावट

4. िनराशा

Question ID : 264330111026

Status : Not Answered

Chosen Option : --

Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
याũा जीवन की 1. ________ है और Ŝकना एक पड़ाव। पįरवारजनों अथवा िमũों के साथ याũा करने का 2.
________ ही िनराला है। परीƗा समाɑ होने के 3. _______ हम चार िमũों ने िकसी पवŊतीय Ůदेश की याũा
का िनणŊय िलया। पवŊतीय Ůदेश की याũा के िलए गमŊ कपड़ों की 4. ________ थी। पįरजनों ने 5. _______ दी
और समुिचत धन भी िदया।

SubQuestion No : 20

Q.20 įरƅ ̾थान 5 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन कीिजए।
Ans 1. अनुमित

2. संतुलन

3. उȖािहत

4. काम

Question ID : 264330111027

Status : Not Answered

Chosen Option : --
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